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Population & Development Crossword

1

2

10

Across

1. The name of the graph
which shows population is a
population

5. In ELDCs, children
work on f

7. Name the economic
indicator that shows a
country's wealth

9. ELDCs have a high
Eir“rh rate as they have poor

11

12

11. Name a combined
indicator.

12. People cannot live in
. areas where there are no

1.

links.
Down

2. Name the social
indicator relating to children
dying under the age of 1

3. Name one social
developmenT indicator
Feginnmg with

4. In India, thereisa

high birth rate because of a
lack of ¢

6. Open sewers cause a
spread of

8. People don't live in
areas that are mountainous.
This is called

10. What kind of birth
rate does the UK have?
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